gobbobbbuoogogobobbbbbooooobob 3guooon

ggboogooboobooobooboobboooooobooboooobooobon
ggbooooboobobooobooboobboooooobooboooobooboboon
gogboogobooboboobooboboooboooooobooobooobbobboobbon

1.0000
0000000000000000000000000000000000000(N O=1,y =11 kN/m?,
w=260%)0 00000000000 0bO0b00b0bOOH=15

g3zmboggoooboooogooobooooooooo 400% | %z?irﬁ
gogooooooooooboobbooboobobobobbbbboooo ;% iﬁj il i .
gogooooooooooboobbooboobobobobbbbboooo ;%__l(@;,,__._x__*____ 7/%%#:7
oboboobooobobgoeokNDOODOOoboboooooo bg_%___T*"_E__"‘____sogh_é
gogooooooooooboobbooboobobobbbbboooo i 1500
gogooooooooooboobbooboobobobbbbboooo Eé 1500 =+ 5t
0000000000000000000000000 Y990 o] . T00 A%Eg_+
gobooooboobboobooboobobooboooo oo 3000 :8?21

JddooooooooboooooobooooooooOod R N A U e U
J \ \ / \
odoooooouoooooooooooo

2. 00000000000000 [ PR
0 10000000000000000000000000 -~ N R N A8
& S 8|4
000000000000000000000025mO0000 & | SR T I -1
10000000000 1.26mO0000 2000 200000 | (= (0
kR
0000000000000000000000000000 8
00000000000000030kN/m20000000 e 5::) o
1800 4 4 (mm
s.ubud 3@3000=9000 B (mm)
0D000O000 1 00000000000000000000 <« BBHA >
00 2000000000000 H1bbbbbud
00000000000O00O0 3 noooo om - UUOODOUDD ”
0000000000000y O EY 2===njif =
0oo 2.50m [] i PR 0
0D00000000000000 ooy |00 0 D £ |
______ ——| a0 %" O goo SngE=S N
00000 14 0000000 1 |—————-%-= B35 . O EESECEESEESEEE s
D0D000000000D0O000 | 00000 Mmg £ SeRes :E e
0o0ooooDoDoogg Mohr- oopo a E D:
oooo 2.65m|:| o«
Coulomb godgoooooood oooog 0 7 g 0
0D00000000000000 — 0 0 O
0D00000000000000 noo “mg E
N\ WA
0000=15x 10“m¥mO 000 RN Y =R
¥ | | I
_ 7 poooooo 0
0=10x 10’kPa0D 0 0000 O 2.75 QooOoOOOOOOO0O0O0
=60kN/m 0000000 DO0 = 15.0m s
OO00000000o0oo0oon g200000oboobboobo

gooboobooboooboobooooboobbooboobboobuoobooboon
gbopbogooose-11010 0000 bo0bo0nD 110 TEL 0178-23-4966 FAX 0178-23-4968



ggoopoooboooooo

Ui1ibgobadgboad

0 1x 10°kPa/m OO 0000 . 00 |0il] ooooo | 00000 | ooo | 0000 oo
wmd | 00 | G, (kP) | OKKP) | c(kP) | Do (0) | 0D
bobobdoobobood 0o 20 | 025]| 1.20x 10° | 2.00x 10° 0 45 0
ddooooooooooad ogd 1.8 0.3 5.42x 10* 1.17x 10° 0 40 0
O000000ooo0oooon ggog 1.1 0.4 5.78x 10° 1.38x 10* 10 5 0
0o 15 | 0.3 | 9.60x 10° | 2.08x 10° 0 20 0
DOO0O00O000000 1000 ggoooo | 15 | 04 | 1.19x 10° | 2.84x 10° 10 15 0
000 20000000000 000 15 | 025 2.15x 10° | 4.0x 10° | 1150 350
5.00 50 ,

gboboo 1o0000boobbooboobboonoo
goo 30300000400
3.000000
o0 s oogooboobooooooobooboboogo
gobooobooobooooooboobboonD 10
gooboboboooooooobbooooobooobobogoo
Oboob0b0obOoboboobuobuobuobo eod 70kPa
obooOoobgno 3okPa UODODOUOODOOODOOODO
gobodb20000oooobooooboobboon
U000 40050kPa 00000000 20030kPa OO
gooobobooooooobboooooboobobogo
oobo0ooboobbo 10000 erekPalOODO
40.1kPall 000 20000 47.9kPald 0 00O 0O 32.2kPa
gooobobooooooobbooooooobbogo
goobooboogoog

ugbob 100000b00b0o0boobobooobooo
gooooooooooo 3 gogoobooobnb 900
100kPa UUDOOODODOODOOODOODOODOOO
OboobOobOobo 7voo8okPa DUODUODO 1 000D
gooobobooooooobboooooboobbogoo
goooboboooooboboboooooboobbooogo
gooobobooooooobboooooboobbogoo
goooooo
4.0000
gopbooobobooobooobo sbgoboooobao
gooobobooooobobobbuoooobobbooooo
gooobobooooobooboboooooooobooooo
goboodbobooobooobooboobboobnoon
gooobobooooobobobbuooooboobbbuoooo
goooboboooooooboboboooooboobbogo
gooboboooobbboooobbobozbobogogo
00000000000000000 203000000
gooooboboooboooboobooooboooboo

3.75

2.50

Y5 1t B (m)

IR

1.25

N

/?riﬁlﬁﬁ(i?ﬁPax

0.00
0.0

S

L@
%

S 1.5 3.0
FHHIE40. 1kPa X7 11 BB Cm)
030001 0000000000000

Yz
@W°

- ™
w&ﬁw
%ﬁ{\ 5/
Shees) )TN

R HHE47.9kPa
/

6.0

Syl

3.75

N

Y5 1) B (m)

1.25

)

@)
&

0'000.6\ 15 3.0
HIME32.2KPa X 5 [ B (m)
04000 20000000000000

5.00

4.5

MW7z S NNENI77Z>X)
NS ) ) \&@/

E

%2'50 e <0 \@/\\ v

N

>41.25 //$ F %Cf;@

0'0000 . 1_‘_./20\4_5 6.0
' U XbmEEEm) '

os500030000000000000

gob0o0ooynyooooooooO0obooooOooOOobOobooobDO0oDOOoDOOoO0ooDOoDOoDobOooODbDOoDGg

0,0 1500000000000 000D000¢0O,2000.12

2000, 00DO0DOO00Oo0O0oDOobOoO0oOOoDOoOoo
oboo0oboooboobbooboboobDoo0 e UbbOoOoUobOoOn

00, OODODOOOOO

gbobooboooooboobooboboobooobooboobobDooboDoo seooDboobOoon



